OB 0LE ) = 7

47 26

2570

12,00

UGG IS = %
265,50

1208

Ll

7

AUZAN0E =
A S

1200

R

rLUGF'OGE = i
4,20

12,00

ZBHE, AL

12,0l

MISE'ZED =Y
45, Rl

12,00

12,00

AL IYEFD = ¢
4oy

12,00

200

MUGLERE = 7
45,12

1700

g

SHUFGEES = ¢
44,70

QO ~N OO O (AW IN (-

12,00

'.2.’-];1]

AULEGES = ¢
44 42

(o)

12,60

AUBGFES = ¥
14 05

—
o

12.00

ili]

B

<

TMUFRTEES = Y
4373

—
-

200

1.0

b | SETE = ¥
43,37

=X
N\

1£.00

a0

3

MAIEBLS =Y
45 0%

—
Lo

12,00

12

AUFLFLG =Y
42,67

—
S

120

AULE'HOS = ¥
ERREE

—
@)

12,00

[i]

1o

ASG'E0G =
41,54

—
(o)

12,00

o

AMEFLDS =
£ 51

ol
-...,J

12,00

falt]

MOE'AGF =Y
4126

—
Q0

12.0:

0.5

HUDLG S =

A0 ER

e
O

Rl

Rh
= . ‘gt =% |3 ‘_
U 5
Mh. 0,00 ! t:_mmwm m
Mw ADO0SY =¥ (8 iLEash = v N 1 awones=v
AL i) = 4000 m M8 o
NN AUOD'OEY = ¥ mnan_amwui “w m mN WOL'EOS = m
30100 = 0,00 & = 4193 B
2 N\_ ALUOOORF =¥ (2 won'oer = ¥ L. = = @ MILE0E =Y S
3 S o N o
3,00 s EITRAL S 1*
U. MO AUDDOEF = MKEGD.GW.WH{ m m m hl MG TE0G =Y m
4000 B 4200 ! 5 41.86 2
1 ' 4 = = o L =
\_© AUOD'0RY =¥ 2 Agu0sY = ¥ @ o 2 m AUGLEDG =7 2
20100 [ 1,00 41,53
= 18 nsom.omB S o008y = ¥ 7 2 £ 6 MBLECS =Y Sy
£0,00 i 43,00 & i AL i T
: T : c o . { o
. \_ N AUCYOIP =¥ [ A0 = ¥ m & 2 N AUGLEOG =Y B
S anan & 47,00 i - 41,83 -
16 wooosr=v |2 wooosr=v 9 2 3 g wsvessv &
0,11 = 49 00 i i 11.93 B
= \_ rrlv AUCEORF =¥ (B W00 Ry = \_ O = 8 @ Agl'E0G =Y 8
i 400,040 b 40,00 - . 41,493 g
=2 ' = = “ o & = 4 : = =
2 ‘_m_. AMOB'08Y =¥ (8 008y = ¢ \_ \_ 2 w.__o MOLENS =Y =
i ai3, 061 il 21,00 i 41,83
L] ] [ T 5 =
2 ._@ MO ORY = 7 mnzoo,omﬁuq\_ N 2 < ‘_ .__NEEEmui =
= 0,061 = A0.L0 i 2 ]
i
L]
™
=+ €0 (=] . (2]
S WG R =Y \_u. = ‘_ AGLEDS = 3
= 34,00 = i 41 45 i
e Nm g N Augl'e0s =¥ 8
[ 37,70 7L - 41,83 =
1 :
<L | wsg'oey = ¢ 2 2 MGLEDE = Byl
k= - 3T “W - o w 41,83 Sl
l % At =3
i : [ )
== = 5 Letlene i Bl
i ﬂ.w_.._._Q_....__u_?.w ¥ L._.)lh ﬂ L- LU LEDS =7 m_
- Tl 2 6 e 2 31.U3 el
- — = = ;
oy 2GS T F = = o . e
= = AurpalL =y *
a5.81 m m a9 00 i
— ) -
S WAFEEY = ¥ @ 3 ;
i IEEE i et
Srugeger = v =
CTl | N i
...J.
AU09'0Ba ) = m

&.-




